| Jl-uaﬂ d—I—H

MAT#H 110

T b ot il S () i

M&glllj;;-l g-‘ljja

gfi-—-ﬁdl




(1)

[ bbby = (32 5% ) — s dluwall a5 |

An equation of a line that passes through the point (1 ,4)

and is perpendicular to the line 8x+4y-12=0 is

An equation of a line that passes through the point (3 ,5) with slope % is

fcos@=,and 0 <0 <%, then sing = 2L

The solution of x2 —9x + 14 < 0 is

The degree measure of 1_(;11 is 220°
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The domain of the function f(x) = Vx2 —5x + 6 is
R-(2,3)

The function f(x) = VxZ + 3 + :;T; is algebraic function

The graph of f~! is obtained by reflecting the graph of the

function f about the line y = x .

To shift the graph of f(x) five units downward we write f(x) +5

f(x)=vx8+1 |s even.
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x*-25
The function f(x) ={ x5 @ S X#*5

is continuous on R, if the value of the constant k is

lim /(x)=L if and only if lim f(x)=L= lim f(x)

4
lim tan~!x = (\/F)
X=x lim|— )=
x=0 X
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From the graph below =y 8 The vertical asymptote of the graph of the function f(x) is
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The function y = :x—:: is continuous on R — {In 4}

The vertical asymptote of the function f(x)= 2 s
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The function f(x) = 7x + 2 is one-to-one. .
The solutionof |3x— 1| < -1 is .
The function f(x) = In(e* —9) is continuouson [In9,) | 3
e"*=x, xeR 3§
li : = 3
x—i‘:}' x+3
6
Let f(x) = 12 and g(x) = —=12. Then (fo g)(x) =

The domain of f(x) = V6 — V6 — x is ¥
The equation of a line passing through the point (0,5) 8

and parallel to the line 2x+ 3y +4 =0
1 9

The function f(x) = x3 is power function

Using the graph of the f(x) below, then the function f is even 10
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If y>2+x%=5, theny = .
If y=95""% theny = P % Ing :
y = ’ < o m
If y=—cos(x), then yG? = -
¥ f2) =3, @D =50 =1.g@D=4mn ()= |*
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,_ _sin(x+y) + y2% cosx
~ sin(x +y) + 2y sinx
If y=sin"1(3x + 2), then 10

' 3
e
J1—(3x+ 2)2




O If: Y ax =5  fimd 4?2
z—ﬁﬁ/ X+ 22X = o L
/
Yy = — 2 X
/’ "‘ZXV / X
= = - AN
S »J
Su't\:\“x ' y
@It Y= 9 fimd 472
7 5:'\:\.‘)( \ =
1= 9 - . g
\\\—-x’-
S Sim X
3y = L e 9 ’T’uej

— Co S X

J= - ("SI‘MX) = Simx
(2 =
Y o): ¥ =enrX

L 0566664790 [ 5 bmmmicer] — Cilommntishdy ]




; S\bse
10/(2) =5
(=3 ¢
1t
®

SRR AR
£ )
/ | _ QJ (
(’F >(Z) ) = (4)-(3)
L. 4
- O (5)-( et

1\




© 1% j:xax

y = |l.e +

j: \'ex+ ex.(\.\-x)
: = \.*e,’f +e’<,\ _\_ek.x 5-‘(7--\')(')6’(
{ g S R
(12) y -
J SR S il Y - ~~== 2((|z.+x eg
) A
A
@ If: Y =ecse (&) :
#

Y= €5 = csc(d) cot(er)

I - -
| Fex csc (€°) Co‘l‘(e_")]

\.C
1!

L 0566664790 [ 5 lommmisar] — Cbmmiiislty ] 71



L 0566664790 [ 5 lommisr] — O lmmntinley ]



@ I1f. COS(X*j) - jz S 1M X F;Md 3/2

- =
”~ " / § 2
- (\’“3) Sim (XxY) = 29y .SiMX 4 cos x 'y

'-Sl"\q(x - v | “ 2
) -y Sim(X+y) =29y simx +\ cof X

’/
-2 3 7/ ' r 3
DY SimX — g siMm(x+y)= Y cos X + 5 in(xty)

) A
J ("7-55"’“""' 5\'~\CX+\3)>= :fca;z-»-sa'ncx-\-y) L
e 2 S

3 — _5 coS X +SRMCX-\-\J)

29 Simx = Simcxay)

—

N—

[
‘j - _5& CoSX + Sim (x+y)
k ZY SimX A .S|‘M(x+3) T_TUQJ 1




— e\ @EEP aTH sxivis 4@

il il i ) il

" [0 el b ofthefncton f (526”35 =3 e
Wom ez Jou_ J0oh?

|I:1:I The function f (x)=2¢" #3¢* =36z his & Jocal masiowum value at 3
T lAEs @l [Q=3  J@xe

(3) | The fonction f (x)=2c’ +3x* =36x has & local minimum value o

(A) x2-| [(B) ¥ =2 (€)x =3 o= |

[® Thefachion £ (x) =2+ 36°-36¢is hveasing o ]
W6 [® (o) (000 @)

W The function f (¢ )=2¢’ +3x” =362 is decroasing on:
(A) (~a-3)v(20) |[E} (=<3} ‘{C} (29) ) (42)

- P

The graph ofthe fuction /() =25 +3¢* =36 isconcavoupward on

The graph of the function f(x)=2¢" +3¢* =36x s concave downward o
[A) (-3 @) (=) |(C) () ||fDJ (0,%)

() | The graph of he function f (x)m 26" +3x*~36x bas an inflection point on:
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M : (b) False
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q Any rational function is continuous on B = (—on,0).

(a) True L%Ese.
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A= ﬂ Tamx

_\j._e. 'famx +5e.::x E

= e* ( sec’x + tamx )

- e nc P

[ The functi S g ? 7
@ efunction f(x)=3x"-x"is ﬁ*.}_,"{p-——-'ﬂ:'t-q._._i._
(a) Even (b)@dd (c) Neither even nor odd | (d) Even and odd
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@lf_v=— the »'=

O o = :

j; Pvip® ™o < f—e"'{l.--x_:j
()" (")

@ Iff{.‘l.’}=fx—1}£':,ﬂ1gn f’{,‘c}:

W;:e‘ (b) e (x =1} |{c) e* (x +1) (d) e*
F
fex) = 1. e 4 E#«(x-—-l)

= ‘ﬁg/-l- E#x 7’\9’":

=X €&

X

(‘34) The graph of y = -cosx is shifted up 6 ur 6 units and nght 2 units, the equation for the

granh is —_— S

s

ﬁi.._-ﬂ' coslx -2)46 |(b) » = =cos(x +2)+6 (c) » =cos(x -2)-5 (d) y =cos(x +21-6

—T P n P

= cos(x-2) +6

If y =sin® 5x , then y" =

(A) 10cos5x [-E} 10sin 5x Mmk cosSx (D) 5cosdx
9B DT s IS
|

B ' 2 SimEx .« cof Bx

- Un Simsx cos5x

- ; ”
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@Tﬁeequanﬂnufmﬂuwpasmammugh 1,-6)° and%tﬂ theline x +2y =6 is
x+2y ==11 |(b)} x+2y =11 (c) -3y =-11 (d) x+3y =11 A_,,__}
Et B=wm(X-2)+y, (1,-86)
I s "rb
':j:'f x—-l)-l—f-ﬁ] | ..u“‘} ;‘A
d=-gx+L ¢
2Y = -Xx 41| 12 /’1
X+2y = -1
3 4‘“
| The equation for the line passes through (-1,0)and perpendicular to the line
2e +3y =1=0 i3 o lSSSS
(8) 3y-2:=-3 |(b) 3p+2¢=-3 [(9) 2 32 =3 (d) 2y +3 =3 -1

E1 ‘ﬁ:“ﬂ(‘r“"":)*‘m\ ?i/ |
'.j‘-“}.{'x-[ ~ }.Ir
I|
J=2 x + 2 ‘ )?*\
0,38

- - P

1:1 =3Xx 43 %’ :':;ﬂ"fﬂ

. The derivative of f(x) = m with respect to x is 1

A) Truge Wm. i

flx)=T— &V

-FH{'A')_ =
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If y =x* then ' =

(A¥ ™ (3+3Inx) (B) x™
{C};""'hx [D}El-x'hhu
= X'H: E""'""‘"J'L'"j b ""“" LY
| ) 915 g
: .
v 3:vx 4 —/— . 3X

3’._._5[3%4&'?3 :l
';.: xngB +31MJ'{]

If y=x® fhen p'=

(A} z"Inx - (B) x* C) = (1-lnx} | (D) x*(l+Inx)
x

3=x

n?ﬁf
A

@ The equation of the line passes through the point (2,-3) with slope & is
=fx ==]5 [b_} _}r+I5.t =—15 |(c) y+6x =15 (d) y—6x mis

- it i

3:M(X—Xl)+5‘
A==€ (X =2) +(-3) >y =6x-12-3

%3_5;{ ~ —45}
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; g(x]+3__ : i
{tth lim S5—=wm=-3, then limg(x)

(@ 0 (b) 3 (c) -3 W 9

: 9lx) + 3 B 2
||'|"lH @ -
(j(ﬂ'\'E . -_-g.j{x}+3"—é

Jx) =-2 a—%{ | fva o =

J‘N—}L ez A

@If}l -lﬂg,!{xl-ﬁ}l.. then _].-' = L
mfﬁ} ® o {C}(x_*l-_ﬁ 5}/ ﬁf

s dlllegzz S

:j:ld(jl(x '—5)%5: aJiL) w2 A

= z X A

37 Ty A D

(X 2/ l

e

——

@ If y =™, then y' =
(A) e gedx M‘“]‘ secix tan 3x

(C) 3" tan 3x (D) 3™ tan’3x
S€c 3x '
:ﬁ:E
SeclXx
1_5_ e . 3 sec3x Tam 3 x

s
Lg, 3 E;e'“ Sec 3x +am3xJ

,_,--;5 4
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@ The inverse of the function of f(x)=3+1x" is
g}xf"'[ﬂﬂ'h—ﬁ (B) £ ) =2 +6 | () £ (x)=JBx =2 | (d)f (x)=f2x +3

T
e
—- P

%ﬂiz \[z(x-s) o=y

: |
PXI=3 ¥ X

@ An equation of the tangent line to the curve p =4  at the point (1,1) is
L 4y —x=3 |(b) 4y +x =3 (€) y —dx =5 |(dy» +4x =5

i
R
1

- e nc P
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e e
-
@ If tan&=2, 0=O=% then cosé=
2 1 1 2
@7 bb')’?; © 3 @ 3
adl '
oA ¥ 22
‘I—a'ﬂ E;l = 5 ,} 2
lﬂf.r"-?h”
|
3=l
% Qes5 B = .f. :,]j = -
N 5
i B S i e
@Ifﬁj+y3-lﬁ.:y,thcn 3 - {J‘-\-l"'p P L:.:—-_":—-I
&y + xt 6y 4 x° 6y —x° FEY x? —fx -
M B ———— Pl
§ ].'ll"i"'ﬁ'-"-' ': :. }'z—'ls-t M}"E—ﬁx ':D} Ex—_;|.-'J

3 -

y B

3IX Y398 =184 +9718x
zT - il

399 —18x) =18%—2x

e

- ¥ . y B
9 (33 —188) = 189 — 3 X
- - 1_,3.:1 foé;'.’l —"-"fz_}
3 = et = . =
34t — 18X F (9 —6x)

-4 Ty — it

= ¥ = PO
"’FH’QE

oo Sl fid B uddg ad 98T ol gyl
Sldlally oMall gueod Baslall as e2s ylg

eSiiles plao (o Ligus Al

P
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